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88 % {25 — (24 3) x 4} — 50

® 5x4 @ 25-(2+3)
® 2+3 @ (25— (2 +3) x 4}

3B 88 — 50




2 14 79} et 72 17 S A 2 Y
0] 2 wjac} 5 7] A7) 71 1 Q.

1, @dolt
sl
I FEL BE 9 AU

ol 2}

o

7H



Bhah] Wre] WepA) S 3190l 3, olshy 4 Wby 49 2ufet
35%0] 2tk gch. efshu] vk A stge] AK A7kl G Fof 2
WH At % B Zol HAGU7N

. ==
=N =



= wor 6500 Ye AEsHA, L5
e TS & A Ay de =

o1 =

7 sE LukE 7HAA EU 7



o]L "ol Yot 4= oSt Ht) 47 wok=r]] of GHAY 3o A S
JLA] b 47} o118 4-o] 2ulct 1% A S, of e

oty £8 ot e

Ct-
=

o&,



